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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

WWWW

(a) Who put forward the IS-LM model?
1S-LM =f3ht i SeRuiee 2

(b) What is the condition for equilibrium in
the goods market?

%3 TG SEAOR T @2
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(2)

{c) Define effective demand.

Ay wifEu igear g |

(d) What is meant by aggregate supply?
ST @A Jere R qum 2

(e} What is stagflation?
oo 52

() What is meant by unemployment rate?

e 2= e & gem 7

{g) Give an assumption of multiplier.
QR GO SfSYEAr fBr4n 1

{h) What is Balance of Payments?
@FCTE Hel 6 2

(i) Give the meaning of demonetization.

R e fren |

() What is exchange rate?
R zm &2

2. Answer the following questions :

{ Continued ) 24A/742

(3)

wod Ty T fordt -

(a) What are the components of aggregate
demand?

s o SeeenR R

(b} Why is the slope of IS curve negative?
IS @ o 9T R ?

{c) Show the differences between Current
Account and Capital Account.

sﬁ@ﬁmﬂwqﬁﬁfiﬂ’ﬁmﬂw
S |

(d) Mention two features of inflation.

e o1 Gy e

() What are the two types of foreign
exchange market?

e Risw e 1 g fe 2

2x5=10
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3. Answer any four of the following questions : {fi Give the meaning of foreign exchange.
5x4=20 What are the instruments of foreign
o e R e BIRGR Te e : SRGHAngEer
fa) Define aggregate demand curve. Why & fa o w1 e R
does the aggregate demand curve slope PR :
downward?
st sftm @9 e o AR ofEw 4. Answer the following questions : 10x4=40
RATETE SAEICE STl 5 2
o ergRd ey ford
(®) dt]?are i, Huiiglons "of 151 {a) Define IS-LM curve. Explain the [S-LM
DR model with the help of diagram.
2 ?
IS-LM ®IfEq Sraerz & & 2 IS-LM a</ e it | IS-LM e o
H2TS 914N 40|

{c) Explain the importance of multiplier.

RTFY GFG [ F41 Or / 9341

Explain how LM curve is derived.

(d) What are the measures to control
LM @47 {590 S=ae 341 20, 090 9101

inflation?
qurRs g 98 IeErmR 7 /2
{b) Explain the causes of demand-pull and
{e) Define Phillips curve. What does the cost-push inflation.
short-run Phillips curve show? s T S S ——
Rfeep cem wiewn | gEewE Bferp @R BRI T |
& crgam 2
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(d)
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(6)

Or / F%=11

Discuss the effects of inflation on
production and distribution.

B WF ReTH @Re qurdies deR
e <1 |

What is multiplier? Discuss the working
of multiplier.

BT 37 9T FRARFEN SCas 4 |

Or / 991

Explain the nature of short-run and
long-run aggregate supply curve.

ZEFAE W e AT @M @4E
oS 1 40

What are the causes of disequilibrium
in Balance of Payments? Mention the
measures to correct the disequilibrium
in Balance of Payments.

@R O SRTRAOR IRPHE [ 2
TR T SRR FAFT TEPHE
Tray 91 |
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(7)

Or / 5=

What is foreign exchange market?
Explain the functions of foreign
exchange market.

(it fRfg 3w &0 e R ure
PRI 4 91 1
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